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Answer: C

° View Text Solution

2.1f |z| is so small that 22 and higher power of x may be neglected then
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Answer: D

° View Text Solution

3. The coefficient of 2" in the expansion of for |z| < 1is
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Answer: C

o View Text Solution
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4. If |z|] <1 then the coefficient of z° in the expansion of

3z
(z —2)(z +1)
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Answer: B
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o View Text Solution
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5. If the coefficients of :1:9, T, T

! in the expansion of (14 )" are in

arithmetic progression then n? — 41n =

A. 398

B. 298

C.—398

D. 198

Answer: C

° View Text Solution
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6.0f(a+bz) °= —+ —z+.
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to

A (3, —27)

., then the ordered pair (a, b ) equals
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D.(3, — 9)

Answer: D

° View Text Solution
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2
7.The term independent of x in the expansions of (\/5 - —) is
x

A — 180929
B. 18(212
C. 180626

D. 180,28

Answer: A

° View Text Solution
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8.If ,then (4, B, C) equals to

A (1,1,1)
B.(1,1,0)
C.(1,0,1)

D.(1,2,1)

Answer: C

o View Text Solution

9. The term independent of z(z > 0,z # 1) in the expansion of

(z+1) (@) ”’is

(223 — 23 +1) (2 — a)

A. 105

B. 210

C.315
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D. 420

Answer: B

° View Text Solution

10. If z is small, so that 22 and higher powers can be neglected, then the

(1—2z) '(1-3z) "

approximate value for

(1—4z)°
Al—2z
B.1— 3z
C.1-4x
D.1 -5z
Answer: C

o View Text Solution
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, then C + D is equal

to

B.1

C.2

D.0

Answer: D

o View Text Solution

12.1f ab # 0 and the sum of coefficients of z” and z* in the expansion of
(a:_2 — 2)11 is 0, then

a x

Aa=1b

B.a+b=0

Cab= -1
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D.ab=1

Answer: D

° View Text Solution
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14. If the coefficients of 7 and (r 4+ 1)" terms in the expansion of
(3 + 72)* are equal , then r is equal to

A 14

B.15

C.18

D. 21

Answer: D

° View Text Solution

B.5

C.6
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D.8

Answer: D

° View Text Solution

16.1f (1422 + 3"’2)10 — 4y + ;@ + ayz® £ ... + anz®, then == is
a

equal to

A.10.5
B.21
C.10

D.5.5

Answer: A

° View Text Solution
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17. For |x|<g the coefficient of 2® in the expansion of

1

(1—52)(1_42) °

A. 369

B.370

C.371

D.372

Answer: A

o View Text Solution
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Answer: B

o View Text Solution

19. The  coefficient of 2% in the expansion of
(1+2%) " (14 22) (1 + 22 is

A L2C

B.12Cs + 2

.20+ 4

D.12Cs + 6

Answer: B

° View Text Solution
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20. If z is numerically so small so that 2% and higher powers of x can be

3/2
neglected, then (1 + 2%) : . (32 + 5z) —1/5 o approximately equal to
A 32 + 31z
' 64
8 31 + 32z
' 64
31 — 32z
C. T
1—2z
64

Answer: A

o View Text Solution

1
21.For |z| < 1,the constant term in the expansion of is

(z — 1)’z — 2)

A 2

B.1

C.0


https://dl.doubtnut.com/l/_G8wAB2tmGO9L
https://dl.doubtnut.com/l/_PPcLlA9tQFWZ

Answer: D

° View Text Solution
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22.If (1 +z+x2+ a:3)5 = Z aka:k , then Z azk is equal to
k=0 k=0

A. 128
B. 256
C. 512

D. 1024

Answer: C

° View Text Solution

5 . 7.
23.Ifa = + 5.7 +579—l—...,thena2+4ozisequalto

2131 3132 4133

A. 21
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B.23

C. 25

D. 27

Answer: B

° View Text Solution
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8.0f ———— = A+
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24+ 2z +1 x+1

A.4C

B.4C+1

C.3C

D. 2C

Answer: D

(z+1)

5 »then A — Bis equal to

° View Text Solution
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25. If ay, is the coefficient of z* in the expansion of (1 +z + a:2)n for
k=0,1,2,...,2n,then ay 4+ 2a3 + 3a3 + ... + 2nay, is equal to

A. — Qo

B.3"

C.n.3"t!

D.n. 3"

Answer: D

o View Text Solution

26. The sum of the series

3 3.5 n 3.5.7
4.8  4.8.12 4.8.12.16

— ..is equal to
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2 1
3 4

Answer: B

° View Text Solution
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27.If = + b,then a:bis equal to

C.1:3

D.3:1

Answer: B

° View Text Solution
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...isequal to
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A472/3
B.3./16

C.3v/4

D. 4%/2

Answer: B

o View Text Solution

29. Match the following columns and choose the correct answer.

Column I

A) (1—-z) "
B) 1—z) "

(
(
(C) Ifzx > 1,then 1+%+$+... is
(

D) if \a:|>1,then1—f—2+%—iﬁ+...

Z

(1)
(2)

Column IT

T
r+1

n(n+1)
21

n(n+1)
2!

1—nx +

1+ nx +
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Answer: C

° View Text Solution

3z + 2 A
30. I T+

Bz +C

(z +1)(222 +3) «+1
A.O
B.2
C.3

D.5

Answer: B

2z2

+3

,then A+ C-Bis equal to

o View Text Solution
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15
31.0F (1 + 2)" = ag + a1 + ... + a5, then Z r—2 s equal to
ar_1
r=1 T

A. 110

B. 115

C.120

D. 135

Answer: C

° View Text Solution

32. The coefficient of 23y%25 in the expansion of (zy + yz + .f/cz)6 is

A.70
B. 60
C.50

D. None of these


https://dl.doubtnut.com/l/_CjZoP9iuzldR
https://dl.doubtnut.com/l/_tSqEjgunBvnP

Answer: B

° View Text Solution

1+ 2z

1
33.If || < —, then the coefficient of 2" in the expansion of ﬁ,
1—2zx

2

A r2"
B.(2r — 1)2"
C.r2?rt1

D.(2r + 1)2"

Answer: D

° View Text Solution

- = A+ B + ¢ + D then

34.If

Ais equal to
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Answer: A

° View Text Solution

35. The binomial coefficients which are in decreasing order are

15~ 15, 15
A. 05, Cﬁ, C7

1 1 1
B.1°Cyg, °Cy, °Cy

15~ 15, 15
C.°Cg, °Cq, °Cy

D. 1507’ 1506’ 15cv5

Answer: D

° View Text Solution
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36.1f —~ _~  canbe expanded in the ascending powers of x, then
z?2 — b5z +6

the coefficient of z° is

—173
648

73
648

71
648

—-71
D. ——
648

Answer: A

o View Text Solution

(z +1) A B _
37. If = + , then 164 + 9B is
(22 — 1)(3z + 1) (2z — 1) (3z + 1)
equal to
A 4

B.5
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C.6

D.8

Answer: C

° View Text Solution

38. If the coefficient of (2r + 1) th term and (r + 2) th term in the

expansion of (1 + a:)43 are equal, then r is equal to

A 12
B.14
C.16

D.18

Answer: B

° View Text Solution
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39. Let a, b and c be such that

= =2 + b + ¢ then
—z)(1—2z)(1 - 3x) l-z 1-2z 1-3z’
b c .
+§+glsequalto

(1
a
1

1
A —

Wl U= o= =

Answer: A

° View Text Solution

40. The coefficient of ° in the expansion of (1 + m2)5(1 +z)tis

A. 60
B. 50

C.40
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D. 56

Answer: A

° View Text Solution
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k
41.1f the coefficient of x in the expansion of (wz + —) is 270, then k is
x
equal to
A1l
B.2
C.3

D.4

Answer: C

° View Text Solution
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42.The sum of the coefficients in the expansion of (1 + T+ m2)n is

A2
B.2"
c.3"

D. 4"

Answer: C

o View Text Solution

43. In the expansion of (1 + z)" the coefficients of pth and (p + 1)th

terms are respectively p and q, then p + q is equal to

B.n+1
Cn+2

D.n+ 3
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Answer: B

° View Text Solution

1—z+622 A B C :
4. 0fF —— — — + ,then Ais equal to
r — x3 T +

Al
B.2
C.3

D.4

Answer: A

° View Text Solution
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Answer: A

° View Text Solution

(1 - 3z)°

(1—2z)

46. The coefficient of z* in the expansion of is equal to

A1l
B.2
C.3

D.4

Answer: D

° View Text Solution
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47. If (142)"=Cy+Ciz+ Cox® + ...+ Cpz"
Co+2C; +3Cy + ...+ (n+1)C, is equal to

A2V +p2n !t

B.2" ! + n.2"

C.2" + (n+1)2°

D.2" '+ (n—1)2"

Answer: A

’

then

o View Text Solution

1
= — ,then kis equal to
x?2 — br — 2k T—2 x4k a

A —3
B. -2
C.2

D.3
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Answer: A

° View Text Solution
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